
Lecture 20 Let $ = ( fat unary predicate
- H -- (IR ; x > o )
consider 6 = (Ix f Hy)
and s

.
( x) = 40 it v- y

l otherwise

{ (u) =/ 0 it say
2 otherwise

.

due 40.3 ← it's true
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t::*
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:*.si::÷.. .. t÷÷÷.""jut yess ← it's true



JU-- ( 27 ; s ; t) of I = ( s ; t)
Let 4 = f- x xxy e z) JU

'
- (Nuh03; t ,t)

at si*%÷¥÷÷÷. sett : ÷÷÷÷÷
jut YES ,] ← it's true

.

di f YES,]

JU F YES ,] ←

T.is:7 ÷¥÷i"wreturn 1
else it ✓= -- y

A- thief'%÷o ) return '

I



Theorem
Let S be a signature and JU be

a structure .

Consider a formula 4 in this signature
then for any two assignments s, and

§ set
.

Si and Gz are the source for
free Nouvelles of 4

defiles.] ift Uf 455,23


